SHI7ECH 7%

A B | B | &M 1= % 21 s
6A98 | A | 930 [ERTER6ATEME s X F £ 5 B # B
. ERTES6AENER & e = 4
GAIGE | B | 990 |mmnovic—mEm EAKM AT ESRE 5
" _ ERTES6AEMNER - R
6H17E * 9:30 E;ﬁﬁ%zﬁ(:_ﬁQEﬁ:ﬁ {Ekgﬁzﬁ ZF ﬁ: = 5 Kké 0¥k i”a‘
_ ERTES6AENER e = 4@
GRISE | A& | 930 |msnovic—mEm EAKM AT ESRE &5
6H20H | £ | 930 |[PEEEZRESR g 1ﬁ§ %\é 5% BEBE
6A238 | A | 930 MREXEZELEZRER g 1ﬁ§ %é 5@ Kb’%
" , 1 2 T [T S S X F & 5 B
6H24H K 9:30 |TERFEFEEEZEES = 1 & g & =
930 |ERMER6ATEHE FR X F £ 5 B # B
6H308 | A = * e & 5 Bs
A | AT 0 T [ ik = T = 2




